
COMPONENTS

A

H

C

HARDWARE & TOOLS

Desk Top -1pc Frame (front) -1pc D Frame (back) -1pc E Support Bar - 3pcs

ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product!

  Screw M6*12mm - 24pcsI J Adjustable Glide - 6pcs K   Allen Key - 1pc

L   Cable Clip - 4pcs M   Adhesive covers - 4pcs N   Grommet - 3pcs

AT WORK-72"  x  72" Corner Stat ion with Inside Curve

AW-CS7272

B Return Top  -1pc

F Leg (front) -1pc G Leg (back) -1pc

Tools Required for Assembly

 Philips Screw Driver for 

O   Screw M6*15mm - 4pcs

P   Connection plate - 2pcs   Screw M6*15mm - 12pcsQ

  Screw M6*60mm - 16pcs

O   Screw M6*15mm

  Screw M6*15mmQ

YH Plastic Washer - 16pcs



ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product!

STEP 1

AW-CS7272

C

D

D

E

E

E

K

I X24

INSTRUCTIONS

Note:Do not tighten screws until all screws have 
been hand-started.

STEP 2

J X6

E

F

G

J X6

STEP 3

G

F

G
O x4

STEP 4

M x4

Front

Back

Front

Back

Front

Back

Front

Back

AT WORK-72"  x  72" Corner Stat ion with Inside Curve

YH x16

Front

Back

Front

Back

Peel off the film of        WashersYH

Stick washers within metal 
rings on the frame,assuring 
that holes line up.



ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product!

AW-CS7272

INSTRUCTIONS

STEP 5

Q  x 12

P  x 2

AT WORK-72"  x  72" Corner Stat ion with Inside Curve

NOTE
If you purchase the Frosted Glass Privacy Panel,
make sure to install the metal bracket,from the 
panel hardware kit,to the station before assembling
the desk top.

STEP 6

L x4

H x16

N x3
B

A

Front

Front




